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1 namh =H2TH 6,163 20 5 i =
2 nam KFREZ 42475 7~24 4 BiEH E
3 nar KFMEHEA 4,434 10 5 NS H) =
4 A KFHF 14,316 20 6 RE 4+ =
5 namh RFAEILEF 12,932 1 5 BiEH =
6 nam KFG 9,684 0 5 BiEH rE
7 =k KFH 10,148 6 4 A L) =
8 nam KFG 5,619 5 3 RE 41T rE
9 nar KFH 6,055 9 6 et =
10 nam KFFEILEF 25,300 8 5 RE 41T rE
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11 =k REFFHIL 12,961 2~8 5 BEH E
12 namh RFFHLIW 8,125 2 4 BEH =
13 momw KFHF 11,615 15 4 RE 4+ =
14 mom | XFEmaHAE 3,965 21 6 et =
15 namwm | XFmEHHE 18,251 14 6 RE {17 rE
16 lI=k7 RFFRHF 10,670 9 6 et =
17 nam KFEFRH 5,504 14 5 FEAF 1T =
18 momw REFRHARE 9,579 10 5 RE {1+ =




